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SSC PART-I (10th CLASS) i
OMPUTER SCIENCE GROUP- by - ) Send
TIME ALLOWED: 2.45 Hours SUBJECTIVE ¥l Loss =
MAXIMUM MARKS: 63 63 = A

NOTE: - Write same question number .q..bzx,ﬂH.Jlrfﬁg‘.": éﬂ}iz’zﬂfM"‘d“W -]

and its part number on answer book, as given in the question paper.
SECTION- Jile

2. Attempt any six parts. 12=2x6 e limg e 270
()  Write any two limitations of Fiowchart. B0y S A )
(il Write down different types of Errors in program. e lf-"l; *ﬁ-‘cf'ﬁf (i)
(iily What is meant by syntax error? fe st Al i) (i)
(iv) Why is it important to identify a prablem? te (UL LS s W)
{v) Whatis BASIC Language? ?.L?’é’g"e v
(vi) Define Variable? 0 JIAGE i)
{vii) What is the use of Numeric Varialftes? -s{fk:-'bd“'?’r-'-"-‘? g (il
(vili) Write the method to load a Fmgra%, SIC. e fa ML Sy ke (i)
(ix) What is meant by Numeric Constant? 7 & : ?+JVEr=~¢‘:j Kz ()
3. Attempt any five parts. /@= 2x5 jﬁﬁaklﬁﬁ'z lﬂkc—ty -3
() Which statements are used for the Conditional . ) el -'Lffé-ﬁi"*ﬁhﬁ'-’-? P70
Transfer of Control? Write their names. 02/ BRI <Y
(i) Write the syntax of FOR . .. NEXT loop. O % o5 g NEXT
(i) What s the purpose of Selection Structure? "

(v) What is meant by Array's Manipulation?
(v) What is the use of Subscript in Array?.

(vi) What s meant by Array? '
{vii)
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vorE: Atamptany tes ueston®:  E5 gy 0 Qo fifn £SO
5 Define Algorithm. Write @ Step-form Algorithrm
with example.
; Ve ot &
W 7 GW-BASIC g e
&  What is meant by Variables? i;{fuJLau,f: ’J’f-‘-éif'tz-—‘/ﬁ -
Discuss different rules for naming Variables in GW-BASIC.
; oy T
7. Whatis meant by Loop? Explain el e FOR...NEXT Semil Al
FOR... .NEXT Loop with example.
_8

-ﬁa.)z.u—!ﬁ_e‘ﬂuz GW-BASIC .é_aﬁf_ﬁiwﬁ
8 Define File Handling. Write File &mess Methads in GW-BASIC.
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TIME ALLOWED, 248 Hours SUBJECTIVE Wi “oap =

2010 (A) S o ()

PUTERSCIENGE GROUP.| P Y. O §

MAXIMUM MARKS: 63 | 0 =« AS
NOTE: « Write same question numbaer el g R W):’J'I;J_MUWA&VQM -

and Its part number on answer hook, as glvan In the question paper,

SECTION: 1w

2, Attempt any sIx parts, 12%2x8 Ao furlinged] 240
() Why s It necansary to analyze the problem? ?q-t.‘awh:;}! w0
() When dosa the Syntax Errors oeeur? o e S LBl byt ()
(il Write two disadvantages of Flawahar e fupendesgd (i)
() Define Algoritm, AN
(v} Dafine Reserved Words, g
(v) What I meant by IDE? fgr Adee IDE ()

(Vl!)

(vil) What s the purpose of using MK cnmmlnﬂ? 'Pq-ﬂm,llﬁ‘l‘é.&-ﬁ"ﬁw MKBIFI

(vill) Write the use of REM statement, i

{Ix}  What s the difference betwaan BASIC ktﬁ&lgdl
and Statements?

3. Attempt any flve parts,

() Write syntax of ON..... GOT! ant.

(1) Why ls WHILE ... w&ﬁﬁrﬁﬁ ned?
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SECTION-II (14 P

HOTE: - Atismptahy three questions, 21 =7x3 E el ke §f
?11_5': What is meant by Debugging? éuyﬁ Tu’r’aﬁ ifﬂ"w{'tfrp tf’ A '/':{ ?-'-*fk(ﬂ N H AP ‘5:3*?:]
How mmy types of Errors can occur in @ Program? Describe in detail.

6 Briefly Describe the following Commands:- Eo s
{nmmu (i) CLEAR () (jii) DELETE ( ) (iv) EDIT ( )

(Vi) RUN () (vii) LIST ()

i uF"— Jiﬁdu"(ui"}""' bt e ?;;-_ag,e;g’;:_}'jfiﬁd:ﬁ £

: DEF FN.Z 2 2Bxus,y 8
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SSC PART-l (10th CLASS)

UTER SCIENCE GROUP-I i - prf St

TIME ALLOWED 18 Minutes OBJECTIVE ;,faﬁ...-’ a6 = &0

MAXIMUM MARKS: 12 12 AS
A i § SR IPIWE ot 3 e BN fpsde el Jirn (VIR ALl D C B A RSBy Ldrs
S St L el /24 Bubbles er’nll.,.flmﬂ;ﬁan‘!ﬂ.fi Juxy L Sfnsmpiet) -2

Note: You have four cholces for each objective type question as A, B, G and D. -u{ﬁd"‘&m g ggr
In front of that question number, Use marker or pen

will result in zero mark In that quostion. Attempt as

The choics which you think is correct, flll that clrcle
to NIl the circles. Cutting or filling two or more circles
muny questions as given in objective lype question paper and lsave others blank. No credit will be awarded

A Ay

in cwss BUBALES are not filled. Do not solve question on this sheat of OBJECTIVE PAPER.

Q.NoA

(11 Typographical errors in BASIC sialement are called - A s i Ly ()
(A Runtime o Jl 2l (B) Logical ermors gl
(C) Syntax srrors 1l Sl (Q (D) Execulion ervors et 51

(2] GW-BASIC can operate in - -.,'..Gz.-".l..: (T.&#M {2}
(A) One mode irll  (B) Two modes ;A; (C) Three modes Jiret (D) Several modes ey

(3 The maximum langth of a varable in GW.BASIC ll\.9/ gl didesbie il mdtie i (3
(A} 31 (8) a2 (D) 45

(@) _____isnota logical operator ‘Q TN @
(A) AND (8) OR tﬁlﬂlﬂ% (D) NOT

(8 option can not be used to exi from an eror : T (5)

handling routine.  (A) RESUME
(61 smulti  branching stalement.
(A}IF . ELSE (8) GOTO

(7} Types of arary ane.-
(A} 1
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A

7833 SSC PART-l (10th CLASS)
PUTER SCIENCE GROUP- by -/ St
ME ALLOWED: 16 Minutes OBJECTIVE (§3%2 w15 = =
MAXIMUM MARKS: 12 12= AF

Ao o &SI AL Apzne LI s vEirs Y7 JE4r D 4 C B A syl Ldrs -t
o A A (L 1o} Bubbles -GriiowalifbeSL SN L LS nmie i 2
Mote: You have four choices for each objective type question as A, B, C and D. g j:*f g gq<r
The cholce which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circies will result in zero mark In that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheot of OBJECTIVE PAPER.

Q.No.1 1 A

(1) The Multi-branching statement is:- e e ()
(A)On. . GOTO  (B)IF . ELSE (C) GOTO (D) ON ERROR GOTO

(2) One cycle of a loop is called - etE ) @
(A) Bicycle UL (B) Test ._.-@O, (C) leration ## T (D) Pause

{3) ___ word is used for increment or decrement 9%}”’ variable: d?.m&a..’.&ﬁjuu#@ sk ()
{A) STEP (B) SKIP \9/‘ (C) NEXT (D) INTERVAL

(4) By defaul, the index value of the firs! element of an array i) = e FJW‘ )

(A) 0 () 1 (©

(5) An element of an array is mentioned by its.- -
(8) Aray o {B) St

{8) ABS (-15) is equal lo--



